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(
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M̄(t) = f+(t) Ā−
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]

+ 2 senh

(

∆Γ

2
t

)

Re (λf )

}

,
, ' X+,$}�/

∆M(t) = e−Γ t
{

cos (∆mt)
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Z[B6�;�q�6	��*��	�76�����q��7[�����
B1

�
B2

1��MB6	]���p�6	�D�
�G�	�
FXlk{�����*�;G������ ` cosh(∆Γ/2 t) → 1 `

| A



senh(∆Γ/2 t)→ 0
�������?Z
B6�����
�?� ' X ' (�4>�
�6��� �*���{�*���?��G��*	������

f+(t) = e−Γt/2 e−iMt cos

(

∆mt

2

)

,

f−(t) = i e−Γt/2 e−iMt sen

(

∆mt

2

)

.
, ' X+, )�/

� �����!�L�����046�*��N���N6	�
�	]�����6�?� �����?Z
B6���A��� ' X *C) ` 4���������� �6� ' X-,$}L4������C���?Z
B6���A�=�3�!��	��
��	���4+
��?�YZ[B6��7��=�5�?7[����
]���L�������5���Y�6�L�5	]Hf	�7+#

ΣM(t) = e−Γt
{

|A|2 + |Ā|2
}

.
, ' X ��}�/

��������46����4+��	��?�����6� ` ��N+�����U�=���6��46��	����?	������E��7$���34>��� �-, B � ` ���?��u:B+� 	��54>���*����7$���34��=4>��

7��E�IH
�����=�A���5�6�

γ ` G?���5�E��Hf46
�	�G������?�����.7��E�*���A�=�<�fX ' X

| B
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�6���5��� ���U�8��N>�?
���G?���)G����5�246��	�76G�
�46	���B676	����?������
 ` Z[B6� ���
�����)��� 4����U��
�G�B6
����~�����*��	��J��� �6�?GA���?�����4����U��
�G?B6
@�=������	��M
��������?X �f�?#�B6����B6��GA���6�?	@�q�6�v�6�?GA��	����?7[���r�J��1:������76�*Ds���������U% ���:4>���
y6
���	����l	�76�U�8^�76G?	@��7��=�;y676	�GA�=�;46���*��
�G�B+
@���:���*��uR���?	��;Z[B6�rG����54>�
��� � B+76	����?���*� ����
�1?���*��76� `46��������76� ` D ������76���L76�?B+���*	�76����X� ��76�+�r���o�
	��*�8�q�nGA����u=���?�E4+����N��=N6	�
�
��*��	�G��p���n�5��G�^�76	�GA�qZ[B�^=7[��	�GA� ` 76���n4>�
�6���5���EG?�=%76S6��G?���:G���� ��H+�=��	����=� � 	�7+�*�8�=7[���p�+���+��GA�=	��5��7$��� �+�qB6���l4��=�*��
�G�B+
@�+X ��Z
B+�n4>�
�6�?�����
���?�6	��{�IHf4>����	����?7[����
��5��7$����1M���6	��*����	�N+B6	������5�6�346�*��N���N6	�
�	��6���6� ` �5�
�6�?
@���6�54>���2B6����G?B6�*�J���Hf4>��76�?76G�	���


P (t) = e−Γt.
,9*+X]|&/

� �+��G���	��5��7$���3�+�cB6���C46���*��
�G�B+
@�L4>�
�6�c�
G��������?� 4>��� �6	����?���*���"GA��76��	�� ` �?�*�8�=N>��
��?G��?76�6���?�U%�8���6���{\�76��	��{�+	�Ds���*��7$�����?X �_�{GA��76��	��{��N6���?�*�=���+���c���=�!���{Z
B+�3�*����4>�?	������ 
���	����6�CG���76���?�*�=�=�A���
G����5� �~�?76���*#�	@�&%P�5���5�?7[��� ` GA�=��#$�a�?
�1?����	�GA� ` G���� ` 7[y6���?���_N����*	 ��76	�G?� ` 7[y6���?���_
��?4+����76	�G?�a�Y��B+�U%�����?X)� GA�=���cG���7��=


i
1"�����*�
G�	@�=���2B6���{Z
B6��7[��	������+�

Γi ` 
�	�#��������246����N6��N6	�
�	����=�6�0�+�c46���
G?�����*�_�G���76S+��G?	����3G����5� �]� � � � �*���
���
�  � � � � � �(�JX �w�������C�6�c���
�6���"���"46���
G?���*�����Y4>����� 
]����	��.�*����B+
��8�
7��<
�����#�B+�����6�M�6�?GA��	����?7[���!��������


Γ =
∑

i Γi ` 46���?���?7[���E7��<�?Z[B���������*+X]|�X_�d46����N6��N6	�
�	����=�6�
�6�LB6� GA�=7���
 �?��4>�?G�
�\6G���1L�5���6	�����4>�?
@� �*� # �
���
� �*� ��� �  �����
� BR(i) = Γi/Γ

X
� 	�7$�����*�������:
@���*#�B6���!�6�E�+��GA�=	��5��7$���<��������


τ = 1/Γ
1��<�����54>��7+��G?������u=��	���4������:Z[B6�

37%
���=�.4����*� 
�G?B6
@��� �+�_B+�!�3�������*�����3�+��GA�=	@��� ` G?��76S6�?G�	��6��G������ �R� �$� ��� � � ��X)� #�����76�6�?KA�

����� �
	����=�0��1?�6	@�=���=���*	@���d�6�2��G?�����6��G���� ��	�7$���?�������������?��4>��7+��uR���?
 4>��
��L������7+��	������6X)� 	��61?	@�
#�������
[1 Z[B6� Z[B���7$���c����	��i	�7$���?76���2�{	�7$���������A�=� ` �!�=	���� 1"�{46����N���N6	�
�	��6���6���6�246���
G?�����*�a�
G����*���?��<4>���3��B��;����K ` �5��76���M�v�f	����;��1?�6	@�+X;')���*� 
�G?B6
@����Z[B6�<�6��G������ 4>����Ds�������;Ds���U����4>�����*B6���
�f	��������51��6	����Y���5�����6�?� �6�

10−23
� ` 4>���YDs�������E��
��?���*������#�761���	�GA� 10−16

�{��4>���YDs���*�A��Ds����GA�
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� � ��|&�M�5	�7:76�5�+��G���	��5��7$���E�6�57+t�B+������7v
�	]�
����X
�a���C����#������C�6�!��B6���V�+� �����*��	 7+�pG?��7[����H
���p�6�5���?����	��v�6�!4>�?�*��B+��N����?�
��� ` �6�?��	��J�V�;��H[%46���?�����=�p4������v
@���*#�B6�����6���6�?GA�=	��5��7[���

Γ
�+��B6���v4����U��
�G�B6
����6�������*���

M
�+��GA�=	�76�+�V�?�

nG����*4>�����6�L�!���*�����
mi

� ,J%P�5���5��7$�����
pi ` �
	@��46�*�
G��?�������6	�7�^��5	�G�� A `

Γ =
(2π)4

2M

∫

|A|2 δ4(p−
n
∑

i=1

pi)
n
∏

i=1

d4pi
(2π)3

δ(p2i −m2
i ).

,9*+X ' /

� ���=�������?�����276�?�����!��������� ` �6�CDs���*�!�E����46�������6�<��G�	�76����u=��	�GA�E�3���6	�7�^=��	�G��5�6�!�?Z
B6���A�=���G�	��!�fX �2
�1����6	��*��� ` �6	���G?B+��	����?�����.�����51?���
�+���Y��Hf4>�?��	��5��7$�8�=	��Y46�������5���6	�� |A|2 76�����6�?GA��	T%���?7[�������?� ����t?�{G?����4>����X

� ��� �����
��� ��� � � � � �&� ��� ����� � � � � �

�dB+�!�54����U��
�G?B6
@�E���?
@�J��	�� 
��*��	�GA�E�6�3�����*���
M ` �����5�?7[��� ~p = γM~v

�C��76�?��#�	�� �
E = γM =

√

M2 + ~p 2 ` �?�*�8uE�=�����
G?	@���+��B6� ,J%P�5���5��7$���
P µ = (E, ~p )

G���� �=�Y	�7+Ds���������?�
���"G?	�76�?�!uJ��	]%
GA���?X ' ���!�*���<B6� ,=%-���?����� ` ���p�5�
�6	�\6GA�r�+�q��G?�����6�lG?��� ����������76�*Ds�����������
�?�!�6�qg ���*��7$��K
P ′µ = Lµ

νP
ν
���bB6�����MB6����76���!�6�3����Ds�����?76G?	@��


S → S ′
Xak2�<G������<���bZ[B6�

S ′
�*�M�6�?��
��
G��

�6�
S
G���������
��
G?	����=�6�

v
7��E�6	����?�A���

x ` �EN>�
���*�{1L�6���6�54>�?
@�����=���*	�K

Lµ
ν =













γ −βγ 0 0

−βγ γ 0 0

0 0 1 0

0 0 0 1













,
,9*+X+*$/

��76�6�
β =

v

c
, γ =

√

1

1− β2
.

,9*+X-,[/
���MN>����������76�?��#�	@���{�C�������?7[�������Pe���� 	�76�6	]�
	��6B��=
��5�?7[������
]���������6��� 7[B6�!�L�MB6����7+�A���6�

���?Ds�?���?76G�	���
 ` �!�*B��<G?���MN6	�76���A�����������!4>�?
��<4+���
�6B+���<	�7[�����*76�<�6��� ,=% �����5��7[����� P µPµ
1MB+�

	�7[�J����	���7[��������Nl�����=76�*Ds���*�!�=���
���3�6�<gi������7$��K ` �=����B+��	�76�6�p�V�=��
����CZ[B����6�����6�q�6�p���������p�6�4����*� 
�G?B6
@�3G����5�E�6���5��7+�*�������6�5�E���?#�B6	����

P ′µP ′
µ = Lµ

νL
λ
µ P νPλ,

Lµ
νL

λ
µ = δλν ,

P ′µP ′
µ = P µPµ = E2 − ~p 2 =M2.

,9*+X ��/
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 8B "�*�S!#]I�� -�S��7�41(��E���

t
]H�*�;7&�%�*��! ���

0, 5×10−24
��N�� 75�'�����'!#���*75�'41(*�Q7&� $���!=�	71�:3��E�F�53 $%���%L"�,$� -3�7&�

���# >�1$����%�&��?E7 JM75��$��&0�7/41(��E���
t
����3��5 �5�&$��I�Q�����,75JM�����KZ��5�*��7&�* >GI�5��?E7*N

V 
K��75$%�5����!#71�R7/�, -�,$���!=�=���[(*�* -�*�5�*���K���9$�(��%�5 "�
~ = c = 1

N
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	����E�6��B6���E4����U��
�G?B6
@�M�6��4>�?76�6�3�+������Ds���*��76G?	@��
 X"z{��B��=
��5��7$��� ` �����J��
���������8��N>�?
@���6���2�?�jG����546	�
@�=���
�?�{G��������!'
� � �]| � ` G��������?��4>��7+�6��� ���5�����54>���6�C�
	�����7+�!����Ds���U%
��76G?	@��
0�6�!�*��4>��B6�*�q���;4����U��
�G?B6
@�r,s�
	��6�V�51?�6	@�$/IXv�246
�	�GA��76�+�p�v������76�*Ds���������A�=�V�+�:g ���*��7$��K
(t, x, 0, 0)µ = Lµ

ν(τ, 0, 0, 0)
ν ` 4>�
�6���5���M�����=�6B6K?	��E�=�EZ[B���7$��	��6���6���E4��=���q�n���?Ds�?���?76G�	���
Y�+�
@��N>�����=� ����	�� ` ��N+����76�6�������?Z[B������
�?�

t = γτ,
,9*fX ($/

∆x = βγ τ = τ
p

M
, SI : ∆x = cτ

pc

Mc2
.

,9*+X A /
� 4+��	��5��	���� ` �5���U������Z
B+�C�5�����54>���+���
	����5�5�?�6	��6�E4>���{B+� ��N6�*���U�=���6���276���*�?Ds�?����7+G�	@�=
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�G?B6
����.�E�����*B6
������6�E��� �����������Y�LB6��B6��
��5��7$���_��7+G���7$�����=�����

�8��N>�?
@���6�v�v�=��
����
cτ

% ` 15	�7[�����*��������7[���!7+�����*�<G����*�;�����=N���
�S6���LG?��� �;�?Z[B����A�=�p7+� �f	��*�������

P7[���?��7��=G�	���7���
"�6��B+76	��6���6���v, � 
U/IX
� �����*���pDs����G�	���7�u��*	�� ` 4>�����*���5�=�6	��5��76�*	���76��
 ` 4>�
�6�:�����GA��
�G�B6
����6�:B6����76�6�vB67+	������+���L7��J��B6���=	���X�')�=���:��Hf���546
�	�\�G���� ` �J���5���L��7���
�	������c�v�+��GA�=	��5��7$����6����1?����7

B0
4+���
�6B6K?	��6�M����B6���MG?��
�	������34f% 4:7��M��76�?��#�	��M�+�EG?��7$�������6�_���������M�6�M|5, � � �3X

�c�m'
� � ` MB0 = 5, 279
� � �j�

cτB0 = 458, 7µ
�vX �c�q��	���B+
@�������V�6�v9;��7[���v .�=��
��p�6�

��Hf4>���*	��5��7$���;giha N ` �����5���LZ[B6�5���5�����?7[���:��1?�6	��:�6���L�51��*��76� B0
G���	����6���L1���� ������76�

�6�
p̄ = 120

� � � � G�X3z2����76�6��*+X A ` ���?�����aZ
B+�EB6� ��1?����7
B0

�
	@�&e��!��� ��1?�6	@�V|�|��5� 7+�
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�f�(e��n�n�6�?GA��	����?7[���
P → p1 p2

X ��
����=��7+�6�r���nZ[B����6�����6�r�q��Z[B��������r�+�vG?��76�*���*�J���A�=�x�+�
,=%P�5���5�?7[���

P µ = pµ1 + pµ2 ` ��N+�����5��� M2 = P 2 = (p1 + p2)
2
X2')�������IH+4+
�	�G�	��������!�J��
����2�6�

��76�?��#�	��L���5���5��7$���_����� 4����U��
�G?B6
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>�6�MG?��7$�����M�6�c���������:,  Y9p/0�c�M�+����
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, � �6/IX �0�=�����EG���
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�
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cτ
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p = M
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��� " � & �v����Ds���*��76G?	@��
��+�5�*��4>��B6�*�;����46���*� 
�G�B+
@�<G?��	@�=��� ` ��76�+� ~p1 + ~p2 = ~P = 0 `
|~p1| = |~p2| = p

�

M2 = m2
1 +m2

2 + 2E1E2 + 2p2 = (E1 + E2)
2,

M2 = m2
1 +m2

2 + 2E1(M − E1) + 2(E2
1 −m2

1),

M2 = −m2
1 +m2

2 + 2E1M,
,9*+X B /

�6�L��76�6�L4>�
�6�?�����YG���7+G�
�B+	��.Z
B+�

E1 =
m2

1 −m2
2 +M2

2M
, E2 =

m2
2 −m2

1 +M2

2M
,

,9*+X+)$/

p =

√

(m2
1 −m2

2 +M2)2 − 4m2
1M

2

2M
.

,9*fX�|R}�/
O � ��� k2�?�����m�*�?Ds���*��76G?	@�=
_B+�!�l������46���*� 
�G?B6
@��� ` � 4����U��
�G?B6
@�l��
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√
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√
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(
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∣

∣
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√
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P µ = (M, 0, 0, 0),

pµ1 = (E1, p1, 0, 0),

pµ2 = (E2, p2 cos θ12, p2 sen θ12, 0),

pµ3 = (E3, p3 cos θ13, p3 sen θ13, 0),
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2(2π)5M

∫

|A|2 δ4(p− p1 − p2 − p3)
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d~p2
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d4p3 δ(p
2
3 −m2
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|Ā|2 δc dE1 dE2 d cos θ12,
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cos θ12 −
M2 +m2

1 +m2
2 −m2

3 − 2M(E1 + E2) + 2E1E2
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)
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|Ā|2 dsij dsjk.
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(m1 +m2)
2 ≤ s12 ≤ (M −m3)
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(m2 +m2)
2 ≤ s23 ≤ (M −m1)
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2 ≤ s13 ≤ (M −m2)
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√
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√
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√
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√
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√
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2
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2
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2

(m  + m  )1 3
2
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3
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∑
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āie
i δ̄i Ai|2

]

,

N1 =

∫

|aχei δχ Aχ +
∑

i

aie
i δi Ai|2 dsij dsjk,

N2 =

∫
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' ` ,$� � ' ` A�' (2, 45± 0, 11) � (2, 72± 0, 13)

δ2/δ̄2
} ` * A � � ( ` }�} (0, 39± 0, 08) � (6, 00± 0, 06)

ρ0Ks a3/ā3
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